Bl

It was raining she went outside without an umbrella.
Answer:

I like going to the beach | don't like swimming.
Answer:

He studies hard he can pass the exam.

Answer:

She bought a new car it was expensive.

Answer:

We couldn't go to the park it was closed.

Answer:

| want to travel the world | don't have enough money.
Answer:

He is tired he still wants to go to the gym.

Answer:

She has a lot of work she never complains.
Answer:

They didn't win the match they played well.

Answer:

I'm hungry | just ate a sandwich.

Answer:




Answers

It was raining she went outside without an umbrella.
Answer: but

I like going to the beach | don't like swimming.
Answer: but

He studies hard he can pass the exam.

Answer: so that

She bought a new car it was expensive.

Answer: even though

We couldn't go to the park it was closed.
Answer: because

| want to travel the world | don't have enough money.
Answer: but

He is tired he still wants to go to the gym.

Answer: yet

She has a lot of work she never complains.

Answer: yet

They didn't win the match they played well.

Answer: although

I'm hungry | just ate a sandwich.

Answer: even though



